Model Question : 2023-24
Class : XII
Subject: Accountancy
Time : 3 Hours 15 Minutes Total Marks : 80

(The figures in the margin indicate full marks.)
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2R. A, B and C are partners sharing profits in the ratio of 3:2:1. C retires and the
goodwill is valued at Rs.24000 Pass necessary journal entries for goodwill treatment if
good will is raised but written off after C'S retirement.
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IV. JCHCA Teq is: - © X 8=53
QY. A and B are partners sharing profits in the ratio of 3:2. They admit for% th share of

profit which he acquires, in equal proportions from A and B. Calculate the new profit

sharing ratio.
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. Prepare common-size Income Statement from the following information:

Particulars 31.3.2022 31.3.2023
Rs. Rs.

Revenue from operation 12,00,000 15,00,000
Cost of Material consumed 6,00,000 7,00,000
Employees benefit expenses 1,00,000 1,50,000
Other expenses 50,000 70,000
Income Tax 30%
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wo. Amal and Bimal are partners in a firm sharing profits and losses in the ratio of 4:1.
On 1% April 2022 the capital of partners were Amal Rs.1,50,000; Bimal Rs.1,20,000.
The net profit for the year ended 31% March 2023 was Rs.2,20,500.
You are asked to prepare profit loss appropriation account of the firm after
taking into consideration the following adjustment:
i) Interest on capital @ 6% p.a.
ii) Interest on Amal’s Loan A/C of Rs.1,00,000 for the whole year.
iii) Interest on drawings of partners at 6% p.a.
Drawings were : Amal Rs.30,000 ; Bimal Rs.20,000
iv) Bimal is to receive commission @ 5% on net profit after such commission.
v) Transfer 10% of the distribution profit, before distribution to the reserve fund of

the firm.



wd. Amar and Rana are partners sharing profits in the ratio 3:2, Their balance sheet is

shown as under on 31.3.2023

Liabilities Rs. Assets Rs.
Capital Accounts: Machinery 60,000
Amar 80,000 Furniture 40,000
Rana 70,000 1,50,000 Debtors 25,000
Reserve Fund 15,000 Stock 10,000
Creditors 35,000 Prepaid Insurance 40,000

Cash at Bank 25,000
2,00,000 2,00,000

Ram is admitted as a new partner with a capital of Rs.30,000 for his %th share in

future profits. He brings Rs.10,000 for his share of goodwill.
i) Stock is to be appreciated to Rs.12,000
ii) Furniture is to be depreciated by 5%
iii) Machinery is to revalued at Rs.82,000
Prepare the necessary ledger accounts and the Balance sheet after the Ram’s
admission.
wR. X, Y, Z are partners in a firm sharing profits losses in the ratio of 2:2:1. The

Balance sheet of the firm as on 31° December 2022 was as follows:

Liabilities Rs. Assets Rs.
Capital Accounts: Plant and Machinery 3,00,000
X 3,00,000 Land and Building 3,40,000
Y 3,00,000 Stock 1,50,000
JA 1,50,000 7,50,000 Debtors 1,20,000
Reserve Fund 50,000 Less: Provision for 6,000 1,14,000
Sundry Creditors 1,05,000 Bal debt
Bills payable 25,000 Bills receivable 26,000

9,30,000 9,30,000

Y retired on 1% January 2023 on the basis of the following conditions:




i) Goodwill of the firm is to be valued at Rs.1,00,000.

ii) Plant and Machinery is to be depreciated @10%

iii) Stock is to be appreciated by 20%

Prepare Revaluation A/C and Y’s capital A/C in the books of the firm.

we. S,M and N decided to dissolve their partnership on March 31 2023. Their profit
sharing ratio was 3:2:1 and their balance sheet was as under:

Balance sheet of S,M and N as on 31° March 2023.

Liabilities Rs. Assets Rs.
Capitals: Land 81,000
S 80,000 Stock 56,760
M 40,000 1,20,000 | Debtors 18,600
Bank Loan 20,000 N’S capital 23,000
Creditors 37,000 Cash 10,840
Provision for doubtful debts 1,200
General reserve 12,000
1,90,000 1,90,200

The stock of value of Rs.41,660 are taken over by S for Rs.35,000 and he agreed to
discharge bank loan. The remaining stock was sold at Rs.14,000 and debtors
amounting to Rs.10,000 realised Rs.8,000. Land is sold for Rs.1,10,000. The remaining
debtors realized 50% at their book value. Cost of realization amounted to Rs.1,200.
There was a typewriter not recorded in the books worth Rs.6,000 which were taken
over by one of the creditors at this value.
Prepare Realisation Account.

8. XYZ Ltd. Forfeited 300 shares of Rs.100 each of a holder on account of failure to
pay final call of money of Rs.20 per share. Out of these 300 shares the company re-
issued 200 shares @Rs.90 each. Show Journal entries for share forfeiture and re-issue

of shares.



we¢. Bajaj Ltd. Purchased assets of the book value of Rs.4,95,000 from another firm. It
was agreed that the purchases consideration to be paid by issuing 10% debentures of
Rs.100 each. What will be entry if the debentures are issued:

i) at par ii) at a premium of 10% and iii) at a discount of 10%

v, From the following Balance sheet of XYZ Ltd. calculate

i) Debt Equity Ratio ii) Proprietary Ratio

Liabilities Rs. Assets Rs.
Equity Share Capitals 50,000 Fixed Assets 1,30,000
10% preference share capital 10,000 Stock 35,000
Reserve and surplus 40,000 Debtors 20,000
10% Debentures 70,000 Investment 10,000
Creditors 17,000 Cash in hand 5,000
Provision for taxation: 13,000

2,00,000 2,00,000
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w4, ABC Ltd. issued 10,000 equity share of Rs.10 each at 10% premium for public
subscription. The amount was payable as follows:

On application Rs.3 per share; on allotment Rs.5 per share (including premium);
on 1% call Rs.2 per share; on final call the balance amount.

The company duly made allotment and call and all sums were received by the
company except 500 shares of the final call. The company forfeited all these share
and subsequently re-issued @Rs.9 per share as fully paid up.

Show necessary journal entries in the books of the company
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. From the following Balance Sheet of & Ltd. prepare cash Flow statement.

Liabilities 31-03-2022 31-03-2023 Assets 31-03-2022 | 31-03-2023
Rs. Rs. Rs. Rs.

Equity share capital 1,00,000 1,50,000 Building 1,50,000 1,50,000
Reserve and surplus 25,000 50,000 Patents 12,500 11,250
Bank loan (long term) 50,000 25,000 Investment - 18,750

Creditors 15,000 11,250 (long term)

Provision for tax 10,000 17,500 Debtors 50,000 63,750
Proposed Dividend 20,000 15,000 Stock 2,500 3,750
Cash 5,000 21,250

2,20,000 2,68,750 2,20,000 2,68,750
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